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i KHome % I Visiting @ i (10) * g IMP Kda ¥ g g VP fid:-Z -2 A R4:1 ~T7 24% Re: 8~ 14 24y

B 1% & : B 34 LR ER G| RV ENGY BV ENY BV AKH| ERV|#% | BE [; 34 2VP COP | # % | Ff%C [} 34 ®VP CcoP
1 559 5 Woods 10 34 | 25 [13.14 | 6.86 | 50.89 | 32.66 |3 |10 [1 |13 T 66.63 8 | 12 AA 39.59

2 AR 7 Cyclops | 10 3 | 34 [2.00 [18.00 [ 29.20 | 4400 |11 |7 [2 |56 K 54.30 9 |11 Ch;;(li:;ge 36.65

3 Oceans 8 s 10 20 | 40 | 4.03 [15.97 | 44.86 | 46.81 |6 |5 |3 |1 BE 50.89 10| 5 Woods 32.66

4 e 9 | AdiEEgE | 10 25 | 41 | 4.95 [15.05 | 19.29 | 28.83 |14 |12 | 4 |14 | Catchall | 47.00 n |2 n 29.20

6 Eff 1 Ch;;;zgge 10 16 | 22 |[7.82 [12.18 | 5430 | 3665 |2 |9 [5 |8 i 46.81 12 | 9 | AiEEiss | 28.83

12 A 13 = 10 21 | 36 |5.20 [14.80 | 39.59 | 66.68 |8 [1 |6 |3 Oceans 44.86 13 |10 | Dragonite | 22.11

10 | Dragonite 14 | Catchall |10 26 | 55 |2.32 [17.68 | 22.11 | 47.00 |13 [ 4 |7 |7 | Cyclops 44.00 14 |4 e 19.29




